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30100 W Z A 90 4,212 65 32 321N 904
31100 A3 15 162 162 162 162 | BN 1r—2x
31200 | ILUE3E 389 32 32 32BN 125
Y3015 |7 ¥ U 221 16 11 11| BH 17
32600 EH 713 65 65 65 | BN 113K
31700 | ¥y XY 40 1, 404 432 324 324 | B 4l
31700 | kXY 130 3, 748 432 216 173 BN 134 —2A
131800 [IZHNAE 36 12, 452 103 54 43| B 17831
31900 #a¥ 5 2,160 648 540 216 | BA 5kg
31900 X 1 540 54 54 54 | BN 1048
35100 |V AT A 1 194 216 216 216 | BN lkg
35220 | FMIOBIE 6 1,047 727 727 320 | BN 2L
135220 | XM IR 10 2,716 324 270 270 | B 10kg
735300 |E—X% 5 2,916 648 648 648 | BN 5kg
136303 | RAF v TEIALD 134 50,693 | 18,921 9, 060 2,991 | B 511
35303 A F v TEIAED 43 2, 565 108 54 54 | BN 43kg
Y3115 Rz ALED 26 3,394 1,808 1,808 1,587 | BN 211
35400 | FHEH 2 502 324 270 270 | BN 2kg
Y3033 | &AL 137 12, 690 238 54 54 | B 137ke
36200 E4HE 50 4, 536 97 86 86 | B 50kg
33300 Ymyal— 44 7,376 76 32 32| BN 146E
133303 | RF v Tuyal 4,428 119 119 103 | B 4048
Y3017 &t Y ' 2, 592 1,296 1,296 1,296 | BN 2kg
31310 | AT 1,588 70 70 54| BP9 2448
41300 FTFH 20 540 54 54 54 | BN 10% > k
41390 [IFAMA 427 63, 828 972 972 216 BA 92% v bk
41807 AA—FATY S 6 2,376 43 43 43| B 5548
46108 SAIEONE 17 20, 326 486 335 238 | B 553y 7
721011 X7 L —% 25, 672 43 32 11BN 1, 0504
71030 | K7+ 3, 240 65 65 2| BA 557
71032 ' K&+ (GR) 3,893 81 70 54 | BMN 574
71150 LIE 3,996 86 86 65 | P 505k
71286 | Zm—HL 4, 547 130 130 86 | &N 3TA
53456 | 7= 7piE 2 540 270 270 270 | BN 2kg
30100 72T A 98 3,132 54 27 27 | =W 9874
30100 7EW\NZ A B 90 2,236 356 356 140 | BB 5 94%
30300 A% L 90 11,772 1, 404 1, 404 1, 188 | £l 94—
30400 | ZHE D 16 10, 368 130 130 130 | & Iy 804%
31100  [¥ L 60 6,048 1,512 1,512 1,512 FERE 44— A
31100 H¥ M 300 5,983 540 270 270 | EIR S 204 — A
33500 %7 FE L 1 324 27 27 27 | &4 124%
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Y5005 \4KFEAN 5 1, 566 1,566 1, 566 1, 566 | K4y 1 —2
31730 | Y —rR— 150 1,620 108 108 108 |FEIR B 154 — %
31950 HAE 2L 6 1, 728 864 864 864 | B IE 24— A
31950 HAE L 12 4,212 1,080 1, 080 972 | BERE 44— R
31930 |ZhE 6 864 54 11 11| ERE 604%
34300 723 2L 10 4,536 2,376 2,376 2,160 | B 25— R
34400 | b= k N 14 4,536 140 49 49 |REA C A8y
34460 |[I=LF & 1, 890 378 378 378 | E I 54— R
34460 I =% F & & 648 648 648 648 | FEAR 17—23
Y3099 7 A—Y b=k L 2,646 918 864 864 | FEA 3 —2
34100 |#AJIK 30 10, 908 1,836 1,836 1,728 |EIRE 64 —
34100 #AM A M 100 37, 584 2,160 1,836 1,836 EIE 2047 — R
34200 |/ 20 7,992 3,996 3,996 3,996 |EIRE 25— R
34520 R —< A L 2 1,296 1,296 1,296 1,296 | =i 1=
36200 HEnE 2L 50 8, 640 1,728 1,728 1, 728 | Bl 54—
36600 & Lk 40 7,128 3,564 3, 564 3, 564 | t#EE 27—
33600 /&Y 0 540 270 270 270 | & [ 4%
38100 A LWz 2L 6 6, 480 108 108 108 | = Ii§ 605y
Y3137 [T v 7 AHL 2 324 27 27 27| K%y 124%
31500 |/MARE 16 11,232 2,808 2, 808 2, 808 | & [ 4 —2
31500 |/MAKE 20 410 11 2 2 |HEA 10048
32500 | AT 1 1,512 1,512 1,512 1,512 | f& 17 —2
37560 |BHIE 1 3,348 540 432 432 | K%y T8y s
38400 |z DEH 5 2, 160 2,160 2, 160 2, 160 | £ I7 17 —2
38400 |z DEH 5 1, 350 27 27 27| BIRE 5048
38521 | SR LOUHE 3 3, 564 119 119 119 | &M 3048
40100 |HMA L 10 1,620 1,620 1,620 1, 620 | B 14 —2A
40100 (A A S 7 594 594 594 594 | REA 17—
40100 | AM A S 20 10, 152 5,076 5,076 5076 |FEIRE 24—
41812 | REHNA 35 5, 238 756 756 | 702 |28 Tr—2=A
43610 BEENEX 540 540 540 540 | & ¥ 17 —2
| 43800 1F LA 4L 4, 752 378 378 216 |FEAR 16,8 7
| 46000 WH T 6, 653 292 216 216 |KEA 28/ 7
| 46108 | EMEDONE M 583 194 194 194 | BERE 3%y 7
49100 NFF _ 12 3, 996 3,996 3,996 3,996 |74 U EL 1H—2
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